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INTERTEK TESTING SERVICES
26dB Emission Bandwidth Plots

Base unit, Lowest channel, Dummy carrier

@ *REW 10 kHz Marker 3 [T1 ]
*WBW 30 kH=z 12.45 dBm

Fef 30 dBm TARCL 40 4B SWT 50 ma 1.821176000 GH=z
10 Offpet 0.5 dB Marker| 1
1 o] [=1z35
20 U 820842 8a) SHo Ex
elt 1
1 .
10 T T

P b

|— 50

L1]

=70

Center 1.921536 GH= 500 kEHz/ Span 5 MH=

Base unit, Highest channel, Dummy carrier

*REW 10 kH=z Marker 3 [Tl ]
*WBW 30 kH=z
Fef 30 dBm *RCL 40 4B SWT 50 ma
a0 Cofffet 0.4 dB Marker| 1
20 1l gsageabes zE=
Delt 2 1
&= |, rer—Tm

Lo 1[]
10
15.43 [ cBm |

o )
" A

L1]

=70

Center 1.928448 GH= 500 kEHz/ Span 5 MH=

FCC ID: EW780-7753-00
26bw - 2 of 3

A0



INTERTEK TESTING SERVICES
26dB Emission Bandwidth Plots

Handset unit, Lowest channel, Traffic carrier
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